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Instruction : All questions are compulsory.
ent, goals and objectives in givin

e of mission statem
f synergy and diScus

. (A) Examine the significanc

strategic direction to 2 firm. Describe the concept O
significance to strategic planning. ‘ 1
OR ‘

(1) What is Strategic Management 9 Explain the ess) of Strategic
Management with examples. 7

() Explain the difference between S -4 \Decisions,) Administrative
Decisions and Operational Decision 7

4

() Choose the correct option :

(1) Which of the 0 actol not considered while framing an
objective ?
(la) or (b) Environmental forces
areness

management (d) Top management values.

2) of the following is the purpose of an organization ?
(a) Goals (b) Objectives
(c) Vision (d) Mission

(3) From which country the concept of ‘strategy’ come from ?
(a) Japan (b) Greek
(c) England (d) India

4 . o
(4)  Which of the following is not a viewpoint of the business definition ?
(a) Customer grievance (b) Customer need |

(c) Customer group (d) None of the above

0B-123
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¢ Management ? How do you

(A) What do you understand by Environment in Strategi »

? classify it ? Explain the process of Environmental analysis in detail.
OR _
() What is Environmental scanning ? Explain any (WO Ieches % 7
Environmental scanning.
(II) What is Organizational Appraisal ? F.xplain any two methods and ,
techniques used for Organizational Appraisal.
(B) Choose the correct option : ¢
(1) Which of the following is not the technique of OrganiZational Appraisal ?
(a) VRIO Framework (b) Continuum of Sustainability
(c) Value chain analysis (d) ¢PESTAL
(2)  Which of the following is nef’a characteristic of business environment ?
N (a) Short term impact (b) Complexity
(¢) Dynamic (d) None of the above
: :
- (3) Which of the following competitive force is not included in Michael
Porter’s model ?
(a) \ Powerful producers (b) Threat of new entry
(c)  Powerful suppliers (d) Powerful customers
(4) Which of the following is not a content of internal environment ?
(8) Training and Development (b) Resource mobilization
(c) Personnel capabilities (d) Global competition
3. (A) What are the key issues in Business level strategy ? Explain in detail Porter’s
Generic business strategies. 14
OR
(I)  Explain BCG Matrix model. 7
(I) Explain GE Nine Cell Planned Grid. 7

)B-123 p



(B) Choose the correct option : 3
(1)  Which of the following is not a technique of strategic analysis ?
(a) Break - even analysis (b) SWOT analysis
(¢) Portfolio analysis (d) Life - cycle analysis

(2) Which of the following is included transparency of corporate structures and
operations ?

(a) Control system (b) Internal control
(¢) Performance of firm (d) Corporate Governa.nce‘
(3) Which of the following is not true for Concenuation‘s"egy ?

(a) Limited risk \ ‘

(b)  Relation with local people
4.  (A) Explain the techniques for Strategic Ev ion and Control in detail. 14

(c) No need of Research and Developmen
(d) Huge Investment

(I) Explain the pmcess ce and discuss in brief elements of

te
strategic analysigawit les. 7
(I Explain thel differe een strategic formation and strategy
"mpleme i 7
(B) sé the 3
of the following issue is not related to managing change ?
) Area of change (b)  Timing of change
(c) Degree of change (d) Trend of change
(2)  Which of the following is not an environmental barrier to implementation of
strategy ?
(a) Organizational values (b) Social values
(c) Politics (d) None of the above
(3)  Which of the following 1s not an operating control system ?
(@)  Key success factors (b)  Production control
(¢)  Budgetary control (d)  Scheduling
OB-123 7
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(ii) Concept and Significance of Income tax planning
(B) Select correct option from given below : (Any four) \
$S
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(Old Course)

[Max. Marks : 70

Time : 2:30 Hours)

14

1.  (A) Explain Steps of Tax Planning.

OR ‘

Write Short Notes on :
(i) Tax avoidance and tax evasion. ‘ ‘

N

ome for A.Y.

(i) Dr. Dinesh Parikh is a very senior citiz s
2019-20 will be T 10,75,000. If hefutilizés Se 80D at full
extent, what will be his tax liability {or the Assessment year2019-20.

(A) 83,400 (B) T 88.000
(C) 96,200 None
0 73,784 should be taken rounded off to the
8

(B) 18,73,780
(D) None

Ai
8,800

iii) " In the case of Bank Fix deposit, deduction under Section 80C cannot be
claimed, if the deposit is for a period of _
(A) 5 Years or more (B) Lessthan 5 Years

(C) 10 Years or more (D) None

(iv) Tax Avoidance means
(A) itis valid method for tax reduction
(B) itis valid method within the legal frame work of tax reduction
(C) itis invalid method of tax reduction

(D) None of above

15 P.T.O.



2. (A) Miss. Saloni is a Managing Director of ‘KS Creation’ Co., A

OB-123

(¥)  According to law tax planning methods mean
(A) itis dishonest method for 1ax reduction.
(B) itis an honest method for tax reduction.
(C) 1tis an honest method but used expertise for tax reductjon,
(D) None of above

(vi) In case of section 80RRB, the deduction is allowed in respect of Royalty
Income is

(A) % 3,00,000 or 50% of Royalty income, whichever islower.
(B)  ¥3,00,000 or 100% of Royalty income, whichever.is lower.

(©)  %5,00,000 or 100% of Royalty income, whichiever is lower.
(D) None of above

want to purchase new technolégy. from lapan, for that Purpose company
Sponsored her for training g Japan. She Jeft Ahmedabad on 1* June, 2018. She
came back to Ahmedabad o 9% April, 2019 assuming that

she never went out
India previously.

I\ Profit on sale of assets of Ahmedabad, recejved in New  %5.50,000

York

Il Income from a business in Japan, which ig controlled < 4,40,000
from Surat '

HOI.  Business income of Bangalore, which is controlled from 2 3,30,000

Britain
IV.  Rent income of assets from China subsequently, remitted in ¥ 2,20,000
India.
V. Interest of Indian company received outside India T 1,10,000
VL. Gift received from parent, brought to India. ¥ 6,60,000

OR

16



(i) Shri Jaivin (Specified employee) joined a company at Ahmedabad as an

Account manager. Following income information provided for the A.Y
2019-20, calculate taxable salary.

7
L monthly salary ¥1,60.000
Il. Deamess allowances 30% of basic salary.

[II. The company will pay bonus at 12% of basic salary.

IV. The company has provided a rent free residential house for which the
company will have to pay rent ¥ 15.000 p.m., the company has also
provided fumniture of Costing T 2,42.400.

V.  The company provided motor car facility of 1,600 CC for personal as
well as company work and company will pay T 90,000 as its
maintenance charges including salary of driver.

VI

His contribution in Recognised provident fund @12.5% of Basic salary®/"
(ii) Ashok is owner of two houses. He is seeking your advice to decide

residential house for tax planning. Give your opinion \xnh ratmml reasons
for the Assessment year 2019-20.

: Hnuse-property )
Particulars | T House House
| “Swapnil” [*Minesh”
Municipal valuation U T 3300000 | 2,60.000
Fair Rent Py W 4,00,000 | 2,50.000
Standard rent i 4.10.000 | 2.10,000
Building Maintenange Exp e 10.000 | 10,000
Land revenue [ o 10.000 10,000
Lacal taxes paxd (]ncluded of prevlous T 6,000 and 30,000 20,000
74,000 Resp )y
|Paid House repainng loan i interest 50,000 20,000
a Outstand|ng House repairing loan interest 5,000 2,000

(B) Select correct option from given below : (Any four)

~ p1.7 Pension to legal heir of the deceased employee is taxable under
(A) Income from Salary

(B) Income from Business or protession

(C) Income from other sources

(D) None of above

II.  Which of the following statement is true ?

(A)  Leave salary dunng the tenure of sen ices

es s fully exempted
(B) Leave salary after the tenure of services

taxable services for Govt. employee is fully
(C) Leave salary during the tenure of services is fully taxable
(D) None of above
OB-123
17 |
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IV.

tion under Section 10(10)(iii) in

The maximum ceiling limit for exede by the payment of Gratuity Act

respect of gratuity for employees covere

1972 is.........
(A) 3,50,000 (B) ¥ 10,00,000
(C©) T20,00,000 (D) None

A person who has acquired a right in a building under lease, who have not

completed tenure of lease will not consider as a deemed owner of leases |
(A) More than 3 years (B) More than 10 years
(C) 12 years or more (D) None

Appurtenant land is taxable under the head
(A) Income from Salary

(B) Income from Business or professior
(C) Income from House property

(D) Income from other sourées

Which house propérty income is charged to tax ?
(A) Farm House (B) Self occupied house
(C) dlet-out house (D) Property held by political party

3. (A) Thi:_retum of “income for assessment year 2019-20 of Shri Kiritbhai

OB-123

T 25,00,000 (including receipt from Horse Race 2 15,00,000). The advance tax

depasited is as under.

Last date of filling return was 31st July 2019 but ac

On 15-09-2018 ¥ 1,25,000
On 15-12-2018 ¥ 1,44,000
On 15-03-2019 < 1,60,000

is

tual return was filed on

14

15-10-2019. Assessment was done u/s 143(3) at 7 25,60,000 (Including receipt
from Horse Race 7 15,00,000) by assessing officer on 15-11-2019

The Assessee has paid ¥ 91,000 as tax deducted at sources.

Compute interest
following case:

(a)

payable u/s 234A, 234B and 234C by Shri Kiritbhai in the



evious year 2018- 19:

' ing i ati ' he pr
(i)  The following information of Raj for the_ =
Name of Assets| Date of | Costof Transfer . Vail(;l: n:,tti.on Fﬂif;:l:":“ In
. ons
Purchase Purc!hase E:p. ; (01-04_2001)

000 100
Jewellery 31-12-1986| 25,000 5.000 3,50,000 40.— o
Unregistered  |31-12-2016 42,000 2,000 60,000
Debenture - s
New Residential|31-10-2018 2,00,000 - —
House . .“

Y. 2018-19 and also explain what wi

. . P
Calculate taxable capital gain for F and Section S4EC for

be difference if alternative option to use Section 54

tax liability. | - ._t, ]

(i) Write notes on Exception of Capital Assets under ‘Income from Capita )
gain'. W

3

(B) Select correct option from given below : (Any three) ; .
uded from the definition of capital

1. Which of the following assets are excl
assets ?
(A) Jewellery
(C) Sculptures

(B) Drawings
(D) None of above,<

Which of the following isfnat, comrect in\ respect of purchase of one
residential house for claiming exemptiofi (u/s 54) of long term capital gain

from residential hojise sold 7
(A).4 Purchasé new holisé\] ‘year before from the date of transfer.

(B) " PurGhase new house withing2 years from the date of transfer.
(C) "Purchase new house within 1 years before or 2 years after the date of

transfer.
Purchase new house within 2 year before or 3 years after the date of

transfer.
is exempted under Section 54.
The sale of land
The sale of share
The sale of Agriculture land
The sale of Residential house

D)

I
- (A)
(B)
(C)
(D)

Section 234(B) stands for
(A) Deferment of Advance tax

(B) Interest for not filling return before due date
(C) Default in Payment of Advance tax

(D) Option (A) and (B) both

Iv.
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On which dates the individual assesse 18 required to pay advan
(A) 15" March, 15" June, 15" Sept & 15" December
(B) 15" June, 15" Sept.. 15" December & 15" March

ce tax ?

(C) 31* March, 31 June, 31* Sept. & 31* Dec
(D) None

4. (A) Discuss salient feature of Goods and Service Tax in detail. ‘ 4
OR
(i)  Write short notes on : Customers related benefit of GS; ‘ \
"

(it)  History of Indirect Tax.

I From which date Goods & Services

(A) 01-04-2017

(C) 01-07-2016

II.  Which Goods & i is ¢
(A) SGST

(D) 1GST

© WG
m. H t various tax rates are notified under Goods & Services
ax Act ? -
) V4% (B) 5%
6% (D) None
- Which was world’s first company to implement GST law in

e the year 1954 7
(A) India (B) Japan
(C) UK. (D) France

V. The consideration of votes of member of centra] Government in the meeting

of GSTC is __ of the total votes cast by member in meeting.

ted for interstate supply ?
(B) CGST

2

(A) 5‘ (B) .%
4

©3 ®) 3
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